
®

Installation
1. For typical installation of the wall hung back outlet fixture, a 

4-bolt Carrier/Support system, (not supplied with this unit) 
must be used for attaching the water closet to the carrier/
support system and waste drain.  Refer to the Installation 
Instructions that were supplied with the Closet Carrier/
Support System for installation of the unit.

2. If you are installing the toilet on an existing support system, 
make sure the system is in compliance with local code 
requirements and the support system is weight rated for 
the application requirements.

3. Mounting studs should extend 2-1/8” (54mm) beyond the 
finished wall. The waste horn should extend 5/16” (8mm) 
beyond the finished wall.

4. Place back up nuts supplied with the carrier/support on 
mounting stud #1, #3 and #4. No back-up nut is used on 
mounting stud #2! Adjust the two lower back-up nuts so 
the front face of the nuts are 1/16” away from the finished 
wall.  Using a level, adjust the back-up nut on mounting 
stud #1 to a vertical plane with mounting stud #3.  Place 
back-up washer on the three installed back-up nuts.

Note: If wall is irregular, the three back-up nuts and 
washers must be positioned to allow a minimum of 1/16” 
gap between the fixture and the wall.

5. Note: The back-up nuts, also referred to as the bearing 
nuts, must be set to take the full loading from the fixture 
while allowing a 1/6” clearance between the fixture 
and the finished wall. Follow the carrier manufacturer’s 
recommendation settings for the outlet connection. When 
setting fixture onto the carrier, it is not recommended to 
use a wax ring, felt or neoprene are recommended. When 
setting the fixture to the carrier, the waste gasket must 
be compressed sufficiently to assure a positive gas and 
watertight seal.

6. Using two people, install the bowl onto the fixture mounting 
studs. Place the fiber washer supplied with the carrier/
support on mounting studs #1, #3 and #4. (Do not place 
a fiber washer or cap nut on mounting stud #2 at this 
time.) Place the cap nut supplied with the carrier/support 
on mounting studs #1, #3 and #4. While holding the bowl 
level and using an adjustable wrench, tighten the three cap 
nuts until they are snug. CAUTION: PRODUCT IS FRAGILE 
Do not over tighten nuts more than a snug fit.

7. Install the fiber washer and cap nut onto the mounting stud 
#2, hand tighten until the nut and washer are touching 
the china. Hand snug firmly the cap nut against the china, 
this is all that is necessary for mounting the cap nut and 
washer to stud #2. Caulk sealant into the gap between the 
toilet and the finished wall.

Note: If you wrench tighten the cap nut on mounting stud 
#2 you will break the china since there is no back nut on 
this stud.

8. With the tapered side of the large rubber gasket facing 
away from the tank, slip the rubber gasket over the thread 
of the flush valve on the bottom of the tank. Connect the 
flexible water supply tube (Not Included) onto the fill valve 
of the tank. Set the tank onto the bowl, with the tapered 
side of the large rubber gasket towards the bowl.  While 
lowering the tank onto the bowl, route the flexible supply 
tube through the opening provided.

9. Fit the tapered side of the large rubber gasket into the 
inlet opening of the bowl. Place the small rubber gaskets 
onto the tank mounting bolts that were supplied with your 
tank. Place the metal washer and nut onto the bottom of 
the tank bolts and tighten the nuts until the tank is snug 
against the sanitary tank bar on the bowl.Connect the 
supply line from the tank to the shutoff valve and tighten 
all coupling nuts securely. Turn on water supply and allow 
the tank to fill. Check for leaks and tighten fittings as 
necessary. 

Note: Views in this illustration are for general representation 
and may not necessarily define the exact contours of the 
product.

A

B

C

D

Recommended Tools & Materials(A) Regular Screwdriver
(B) Adjustable Wrench
(C) Marker
(D) Tape Measure
(E) Level
(F) Silicone Sealant
(G) Putty Knife
(H)  Flexible Supply Tube (Not Included)
(I) Closet Carrier/Support (Not Included)

CAUTION: PRODUCT IS FRAGILE
Handle with care to avoid breakage and possible injury!

When performance matters.

When performance matters.

Note: Views in this illustrations are for general representation
and may not necessarily define the exact contours of the product.

7730/7730HE
REV 10/2013

-1-

If you are installing the toilet on an existing support system,
make sure the system is in compliance with local code
requirements and the support system is weight rated for
the application requirements.

1 2

E G

F

If replacing an existing toilet be certain to shut off
water supply before removing old toilet.

SINK INSTALLATION:

3 4

Wall Hung Back Outlet Toilet with Tank Installation

For typical installation of the wall hung back outlet fixture, a
4-bolt Carrier/Support system, (not supplied with this unit)
must be used for attaching the water closet to the carrier/support
system and waste drain.  Refer to the Installation Instructions
that were supplied with the Closet Carrier/Support System for
installation of the unit.

H

Place back up nuts supplied with the carrier/support on mounting
stud #1, #3 and #4. No back-up nut is used on mounting
stud #2! Adjust the two lower back-up nuts so the front face of
the nuts are 1/16” away from the finished wall.  Using a level,
adjust the back-up nut on mounting stud #1 to a vertical plane
with mounting stud #3.  Place back-up washer on the three
installed back-up nuts.
Note; If the wall is irregular, the three back-up nuts and
washers must be positioned to allow a minimum of 1/16”

gap between the fixture and the wall.

7
-1

/2
”

(1
9
0
m

m
)

9” (228mm)

I

Front View Cut Away of Mounting Hardware

For installations where consideration is given for
ADA compliance, the seat height must be 17” to
19” (432 to 483) from the finished floor.

Finished Wall View

Mounting Studs #1 Mounting Studs #2

Mounting Studs #3 Mounting Studs #4

Waste Drain

Mounting
Studs

2-1/8”

(54mm)

Back-Up Nut

Back-Up
Washer

Fiber
Washer

Cap Nut

W
a
s
te

 H
o

rn

5/16”

(8mm)

Mounting studs should extend 2-1/8” (54mm) beyond the
finished wall.

The waste horn should extend 5/16” (8mm) beyond the
finished wall.

Finished Wall

Top View of Carrier

Rubber
Gasket

Tank
Bolts

Tank
Washers

Tank Nuts

-2-

Note: The back-up nuts, also referred to as the
bearing nuts, must be set to take the full loading
from the fixture while allowing a 1/6” clearance
between the fixture and the finished wall.

Follow the carrier manufacturer’s recommendation
settings for the outlet connection.

When setting fixture onto the carrier, it is not
recommended to use a wax ring, felt or neoprene
are recommended.

When setting the fixture to the carrier, the waste
gasket must be compressed sufficiently to assure
a positive gas and watertight seal.

5 6

7 8Install the fiber washer and cap nut onto the mounting
stud #2, hand tighten until the nut and washer are
touching the china.  Hand snug firmly the cap nut against
the china, this is all that is necessary for mounting the
cap nut and washer to stud #2.
.
Caulk sealant into the gap between the toilet and the
finished wall.

Using two people, install the bowl onto the fixture mounting
studs.

Place the fiber washer supplied with the carrier/support on
mounting studs #1, #3 and #4. (Do not place a fiber
washer or cap nut on mounting stud #2 at this time.)

Place the cap nut supplied with the carrier/support on
mounting studs #1, #3 and #4.  While holding the bowl
level and using an adjustable wrench, tighten the three
cap nuts until they are snug.

CAUTION: PRODUCT IS FRAGILE
Do not over tighten nuts more than a snug fit.

With the tapered side of the large rubber gasket facing
away from the tank, slip the rubber gasket over the
thread of the flushvalve on the bottom of the tank.

Connect the flexible water supply tube (Not Included)
onto the fill valve of the tank.

Set the tank onto the bowl,
with the tapered side of the
large rubber gasket towards
the bowl.  While lowering the
tank onto the bowl, route
the flexible supply tube
through the opening provided.

9
Fit the tapered side of the large rubber gasket into the
inlet opening of the bowl. The tank should sit level and
parallel to the finished wall.

Place the small rubber gaskets onto the tank mounting
bolts that were supplied with your tank.  Slide both bolts
into the mounting holes from inside the tank.

Secure the tank by placing the metal washer and nut
onto the bottom of the tank bolts and tighten by hand
both nuts while holding the tank level.

With the tank level and sitting parallel to the wall, begin
to tight the nuts alternating between the two nuts to
keep the tank even. Tighten the nuts until the tank is
snug against the sanitary tank bar on the bowl.

CAUTION: PRODUCT IS FRAGILE
Do not over tighten nuts more than a snug fit.

Connect the flexible water supply line from the tank to
the shutoff valve. Tighten all coupling nuts securely.

Turn on water at the supply valve and allow the tank to fill.

Check all fittings for leakage and tighten any fittings that
are leaking.

10

Water
Supply

Opening

When performance matters.

WARNING: Do not use plumbers putty, pipe dope or any other sealant on the
water supply connections to this tank.

is void if any type of sealant is used on the water supply connection.WARRANTY

Note: If you wrench tighten the cap nut on mounting
stud #2 you will break the china since there is no
back nut on this stud.

.

WARNING

N
O

BL
EACH DROP-IN

S

N
O

BLEACH DROP-I
N

S

DO NOT USE IN-TANK TOILET BOWL CLEANERS
CONTAINING BLEACH OR CHLORINE

Result in Damage to tank components and may cause flooding
and property damage.

1.

2. Void Tynan Plumbing Fixtures Limited Warranty

Use of such products will:

CAUTION

PRODUCT IS FRAGILE
Handle with care to avoid 

breakage and possible injury

For installations where consideration  
is given for ADA compliance, the seat  
height must be 17" to 19" (432mm  

483mm) from the finished floor.

Distributed Exclusively by Ferguson and Wolseley Canada
© 2013 Ferguson Enterprises, Inc. 	 18218 11/13

A

B

C

D

Recommended Tools & Materials(A) Regular Screwdriver
(B) Adjustable Wrench
(C) Marker
(D) Tape Measure
(E) Level
(F) Silicone Sealant
(G) Putty Knife
(H)  Flexible Supply Tube (Not Included)
(I) Closet Carrier/Support (Not Included)

CAUTION: PRODUCT IS FRAGILE
Handle with care to avoid breakage and possible injury!

When performance matters.

When performance matters.

Note: Views in this illustrations are for general representation
and may not necessarily define the exact contours of the product.

7730/7730HE
REV 10/2013

-1-

If you are installing the toilet on an existing support system,
make sure the system is in compliance with local code
requirements and the support system is weight rated for
the application requirements.

1 2

E G

F

If replacing an existing toilet be certain to shut off
water supply before removing old toilet.

SINK INSTALLATION:

3 4

Wall Hung Back Outlet Toilet with Tank Installation

For typical installation of the wall hung back outlet fixture, a
4-bolt Carrier/Support system, (not supplied with this unit)
must be used for attaching the water closet to the carrier/support
system and waste drain.  Refer to the Installation Instructions
that were supplied with the Closet Carrier/Support System for
installation of the unit.

H

Place back up nuts supplied with the carrier/support on mounting
stud #1, #3 and #4. No back-up nut is used on mounting
stud #2! Adjust the two lower back-up nuts so the front face of
the nuts are 1/16” away from the finished wall.  Using a level,
adjust the back-up nut on mounting stud #1 to a vertical plane
with mounting stud #3.  Place back-up washer on the three
installed back-up nuts.
Note; If the wall is irregular, the three back-up nuts and
washers must be positioned to allow a minimum of 1/16”

gap between the fixture and the wall.

7
-1

/2
”

(1
9
0
m

m
)

9” (228mm)

I

Front View Cut Away of Mounting Hardware

For installations where consideration is given for
ADA compliance, the seat height must be 17” to
19” (432 to 483) from the finished floor.

Finished Wall View

Mounting Studs #1 Mounting Studs #2

Mounting Studs #3 Mounting Studs #4

Waste Drain

Mounting
Studs

2-1/8”

(54mm)

Back-Up Nut

Back-Up
Washer

Fiber
Washer

Cap Nut

W
a
s
te

 H
o

rn

5/16”

(8mm)

Mounting studs should extend 2-1/8” (54mm) beyond the
finished wall.

The waste horn should extend 5/16” (8mm) beyond the
finished wall.

Finished Wall

Top View of Carrier

A

B

C

D

Recommended Tools & Materials(A) Regular Screwdriver
(B) Adjustable Wrench
(C) Marker
(D) Tape Measure
(E) Level
(F) Silicone Sealant
(G) Putty Knife
(H)  Flexible Supply Tube (Not Included)
(I) Closet Carrier/Support (Not Included)

CAUTION: PRODUCT IS FRAGILE
Handle with care to avoid breakage and possible injury!

When performance matters.

When performance matters.

Note: Views in this illustrations are for general representation
and may not necessarily define the exact contours of the product.

7730/7730HE
REV 10/2013

-1-

If you are installing the toilet on an existing support system,
make sure the system is in compliance with local code
requirements and the support system is weight rated for
the application requirements.

1 2

E G

F

If replacing an existing toilet be certain to shut off
water supply before removing old toilet.

SINK INSTALLATION:

3 4

Wall Hung Back Outlet Toilet with Tank Installation

For typical installation of the wall hung back outlet fixture, a
4-bolt Carrier/Support system, (not supplied with this unit)
must be used for attaching the water closet to the carrier/support
system and waste drain.  Refer to the Installation Instructions
that were supplied with the Closet Carrier/Support System for
installation of the unit.

H

Place back up nuts supplied with the carrier/support on mounting
stud #1, #3 and #4. No back-up nut is used on mounting
stud #2! Adjust the two lower back-up nuts so the front face of
the nuts are 1/16” away from the finished wall.  Using a level,
adjust the back-up nut on mounting stud #1 to a vertical plane
with mounting stud #3.  Place back-up washer on the three
installed back-up nuts.
Note; If the wall is irregular, the three back-up nuts and
washers must be positioned to allow a minimum of 1/16”

gap between the fixture and the wall.

7
-1

/2
”

(1
9

0
m

m
)

9” (228mm)

I

Front View Cut Away of Mounting Hardware

For installations where consideration is given for
ADA compliance, the seat height must be 17” to
19” (432 to 483) from the finished floor.

Finished Wall View

Mounting Studs #1 Mounting Studs #2

Mounting Studs #3 Mounting Studs #4

Waste Drain

Mounting
Studs

2-1/8”

(54mm)

Back-Up Nut

Back-Up
Washer

Fiber
Washer

Cap Nut

W
a

s
te

 H
o

rn

5/16”

(8mm)

Mounting studs should extend 2-1/8” (54mm) beyond the
finished wall.

The waste horn should extend 5/16” (8mm) beyond the
finished wall.

Finished Wall

Top View of Carrier

Rubber
Gasket

Tank
Bolts

Tank
Washers

Tank Nuts

-2-

Note: The back-up nuts, also referred to as the
bearing nuts, must be set to take the full loading
from the fixture while allowing a 1/6” clearance
between the fixture and the finished wall.

Follow the carrier manufacturer’s recommendation
settings for the outlet connection.

When setting fixture onto the carrier, it is not
recommended to use a wax ring, felt or neoprene
are recommended.

When setting the fixture to the carrier, the waste
gasket must be compressed sufficiently to assure
a positive gas and watertight seal.

5 6

7 8Install the fiber washer and cap nut onto the mounting
stud #2, hand tighten until the nut and washer are
touching the china.  Hand snug firmly the cap nut against
the china, this is all that is necessary for mounting the
cap nut and washer to stud #2.
.
Caulk sealant into the gap between the toilet and the
finished wall.

Using two people, install the bowl onto the fixture mounting
studs.

Place the fiber washer supplied with the carrier/support on
mounting studs #1, #3 and #4. (Do not place a fiber
washer or cap nut on mounting stud #2 at this time.)

Place the cap nut supplied with the carrier/support on
mounting studs #1, #3 and #4.  While holding the bowl
level and using an adjustable wrench, tighten the three
cap nuts until they are snug.

CAUTION: PRODUCT IS FRAGILE
Do not over tighten nuts more than a snug fit.

With the tapered side of the large rubber gasket facing
away from the tank, slip the rubber gasket over the
thread of the flushvalve on the bottom of the tank.

Connect the flexible water supply tube (Not Included)
onto the fill valve of the tank.

Set the tank onto the bowl,
with the tapered side of the
large rubber gasket towards
the bowl.  While lowering the
tank onto the bowl, route
the flexible supply tube
through the opening provided.

9
Fit the tapered side of the large rubber gasket into the
inlet opening of the bowl. The tank should sit level and
parallel to the finished wall.

Place the small rubber gaskets onto the tank mounting
bolts that were supplied with your tank.  Slide both bolts
into the mounting holes from inside the tank.

Secure the tank by placing the metal washer and nut
onto the bottom of the tank bolts and tighten by hand
both nuts while holding the tank level.

With the tank level and sitting parallel to the wall, begin
to tight the nuts alternating between the two nuts to
keep the tank even. Tighten the nuts until the tank is
snug against the sanitary tank bar on the bowl.

CAUTION: PRODUCT IS FRAGILE
Do not over tighten nuts more than a snug fit.

Connect the flexible water supply line from the tank to
the shutoff valve. Tighten all coupling nuts securely.

Turn on water at the supply valve and allow the tank to fill.

Check all fittings for leakage and tighten any fittings that
are leaking.

10

Water
Supply

Opening

When performance matters.

WARNING: Do not use plumbers putty, pipe dope or any other sealant on the
water supply connections to this tank.

is void if any type of sealant is used on the water supply connection.WARRANTY

Note: If you wrench tighten the cap nut on mounting
stud #2 you will break the china since there is no
back nut on this stud.

.

WARNING

N
O

BL
EACH DROP-IN

S

N
O

BLEACH DROP-I
N

S

DO NOT USE IN-TANK TOILET BOWL CLEANERS
CONTAINING BLEACH OR CHLORINE

Result in Damage to tank components and may cause flooding
and property damage.

1.

2. Void Tynan Plumbing Fixtures Limited Warranty

Use of such products will:

Installation Instructions

Wall Hung Back Outlet 
Gravity Tank
PF1705 / 1710 /  
PF1705HE / PF1710HE



®

Distributed Exclusively by Ferguson and Wolseley Canada
© 2010 Ferguson Enterprises, Inc. All Rights Reserved

6635 12/10

IF WATER CONTINUES TO RUN, CLEAN THE SEAL AS DESCRIBED IN 
FIGURES 1-6 BELOW

Turn off water supply

1

Remove fill valve cap and 
disconnect refill tube

refill tube 2 3

Disconnect the adjustment 
screw from the fill valve arm

4

Turn 1/8 counter clockwise
to loosen fill valve head

5

Cover the fill valve head and 
slowly turn on the water to 
remove any debris

Reassemble in reverse 
order to assure functioning

6b

Rinse the seal and head 
with water

6a

Troubleshooting

Wall Hung Back Outlet
Gravity Tank
PF1705 / 1710

Difficulties

IF FILL VALVE SHUTS OFF BUT CONTINUES TO LEAK
Follow the How to clean Seal instructions below.

IF FILL VALVE TURNS OFF AND ON DURING PERIODS OF NON-USE, 
it is a  signal you are wasting water.
Check to see if the lowest portion of the refill tube is inserted into overflow 
pipe, below the water level in the tank. 

Check to see if the fill valve float is stuck.  Make sure it moves freely. 

Check to see if the flapper is worn, dirty or misaligned. Replace the flapper 
with a original replacement flapper. 

Check to see if the flush valve nut is tight.

IF FILL VALVE WON’T TURN ON OR SHUT OFF or REFILL OF TANK WATER 
IS SLOW  A Replacement Seal may be needed. caution:  .CLAMP NUT could 
result in breakage and potential DAMAGEDO NOT use cone washer with 
plastic supply line. DO NOT use plumber’s putty to seal these fittings. Captive 
cone washers already included. Use the existing washers and coupling nut. 
Check the angle stop and insure the water is on. IF WATER IS LEAKING 
FROM THE TANK  Refer to the supply line hook up diagram. Check the fill 
valve clamp nut to insure it is tight. Confirm the tank is securely fastened to 
the bowl. Check to see if the flapper is worn, dirty or misaligned.  Replace 
the flapper with a original replacement flapper. Check to see if the flush valve 
is nut is tight.

Difficulties Reason Solution

Water level is too high 
or too low

Fill valve adjusted 
incorrectly Adjust water level

Fill not fully open Open shut-off valve

Fill valve can’t fill Filter clogged
Remove and clean 
filter

Float cup is stuck by 
tank wall

Free fill valve from 
tank wall

Leaking Hexagonal nut is loose Tighten hexagonal nut

These parts must be used as illustrated to ensure a water tight connection

METAL/COPPER

FLARED TUBING
METAL FLANGED

TUBING
METAL SPIRAL

TUBING
VINYL/BRAIDED

CONNECTOR

LOCK
NUT

LOCK
NUT

LOCK
NUT

LOCK
NUT

CONE 
WASHER

EXISTING 
WASHER

EXISTING
CONE 
WASHER

COUPLING 
NUT

COUPLING 
NUT

EXISTING
COUPLING 
NUT

COUPLING 
NUT

WATER
SHUTOFF

WATER
SHUTOFF

WATER
SHUTOFF

WATER
SHUTOFF

Use the existing washers
and coupling nut

Captive cone washers
already included

Water supply tube or pipe must extend at least 1/2” inside threaded shank of valve

CLAMP NUT could result in breakage and potential DAMAGE
DO NOT use cone washer with plastic supply line
DO NOT use plumber’s putty to seal these fittings

Caution:

WARNING
DO NOT USE IN-TANK TOILET BOWL CLEANERS
CONTAINING BLEACH OR CHLORINE

Use of such products will:

1.  Result in damage to tank components and may cause 
 flooding and property damage 

2.  Void warranty

Distributed Exclusively by Ferguson and Wolseley Canada
© 2013 Ferguson Enterprises, Inc. 	 18218 11/13

Troubleshooting

Wall Hung Back Outlet 
Gravity Tank
PF1705 / 1710 /  
PF1705HE / PF1710HE



®

Instructions d’installation

Réservoir de gravité à 
sortie arrière de type mural 
PF1705 / 1710

Distributed Exclusively by Ferguson and Wolseley Canada
© 2010 Ferguson Enterprises, Inc. All Rights Reserved

6635 01/11

1. Suivre les instructions d’installation du support pour 
toilettes. S’assurer que les goujons du support pour 
toilettes dépassent d’au moins 1-7/8 po (48 mm) de la 
surface du mur fini.  

2.  Placer les écrous d’épaulement sur le boulon supérieur 
gauche et le boulon inférieur gauche. Ajuster les écrous 
de façon à ce que la surface avant des écrous soit égale 
au mur fini. Utiliser une scie à métaux pour jauger les 
tolérances recommandées d’un écart de 1/16 pouce entre 
l’installation et la surface du mur. 

3.  Ajuster la collerette de vidange de façon à ce qu’elle 
excède de 5/16 po (7 mm) du mur fini.

4. Suivre les recommandations de réglage du fabricant 
concernant le support pour toilettes pour la connexion de 
sortie de la toilette. 

5.  Utiliser un joint de feutre ou de caoutchouc (il n’est pas 
recommandé d’utiliser un anneau de cire) sur la sortie 
de la toilette.

6. Avec l’aide d’une autre personne, monter soigneusement 
la cuvette sur les goujons de la toilette en utilisant des 
rondelles de fibre et des écrous borgnes. Serrer à la main. 
NE PAS appliquer les rondelles de fibres supérieures 
droites et l’écrou borgne avant que les trois écrous aient 
été fermement serrés. Serrer à la main l’écrou borgne 
supérieur droit. 

7. Appliquer un produit d’étanchéité à base de silicone entre 
la cuvette et le mur fini.

8.  Installer le joint entre le réservoir et la cuvette et les 
boulons du réservoir avec la rondelle si elle n’a pas déjà 
été installée puis placer le réservoir sur la cuvette.

9.  Bien enfoncer et niveler les écrous du réservoir en 
utilisant une clé à douille et en maintenant fermement la 
vis à tête goutte de suif à l’intérieur du réservoir à l’aide 
d’un tournevis.

10. Connecter l’alimentation en eau au robinet à flotteur. 
Serrer seulement à la main la conduite d’alimentation. NE 
PAS UTILISER DE PINCE MULTIPRISE.

11. Ouvrir l’alimentation en eau, tirer la chasse d’eau et 
vérifier la présence de fuites. Ajuster le robinet à flotteur à 
la hauteur de niveau d’eau approprié comme indiqué sur 
le tube du robinet de la chasse.

Ajustement du niveau d’eau :
Faire tourner la tige ajustable permet d’ajuster la hauteur de la 
cuvette du flotteur et de changer le niveau de l’eau.

Entretien et Maintenance:
Ne pas utiliser de poudre abrasive ou de nettoyeur liquide 
qui pourraient endommager la surface du produit. NE PAS 
UTILISER DE NETTOYEUR À CUVETTE CONTENANT DU 
JAVELLISANT OU DU CHLORE DANS LE RÉSERVOIR. Cela 
pourrait endommager les composants du réservoir et pourrait 
entraîner un débordement et des dommages à la propriété. 

Mise en garde:
Ce produit est fragile. Afin d’éviter tout bris et blessure 
possibles, manipuler avec soin! Trop serrer le contre-écrou 
ou l’écrou d’accouplement pourrait entraîner des bris et un 
débordement. Ne pas utiliser de rondelle conique avec une 
conduite d’alimentation en plastique. Ne pas utiliser de pâte 
à joint ou toute autre matière à base de silicone pour serrer 
l’écrou d’accouplement de l’alimentation. 

Garantie
ÉLÉMENTS COUVERTS PAR LA GARANTIE
Ferguson Enterprises, Inc. (« Ferguson » ou «l’entreprise 
») garantit ses produits contre les défauts de matériaux et 
les vices de fabrication dans des conditions d’utilisation 

et d’entretien normales POUR UNE DURÉE D’UN (1) AN À 
PARTIR DE LA DATE D’INSTALLATION.

ÉLÉMENTS NON COUVERTS PAR LA GARANTIE
La garantie exposée au paragraphe 1 ne couvre pas les 
frais d’installation ou de main d’oeuvre et ne s’applique 
pas aux produits endommagés à la suite d’un accident, 
d’une utilisation abusive, d’une installation ou d’un 
entretien inapproprié ou d’une modification du produit de 
plomberie original. La garantie de ce produit se limite à 
la garantie offerte à Ferguson par le fabricant du produit. 
Enfin, FERGUSON NE PEUT ÊTRE TENU RESPONSABLE 
DES BRIS OU DES DOMMAGES DE CE PRODUIT OU 
DE TOUTES PIÈCES DE CE PRODUIT CAUSÉS PAR 
L’UTILISATION DE NETTOYANTS ABRASIFS.

COMMENT OBTENIR LE SERVICE AU TITRE  
DE LA GARANTIE
Clients des É.-U.: L’acheteur/acheteuse devrait 
contacter le distributeur Ferguson, l’entrepreneur ou 
l’installateur le plus proche chez qui le produit a été 
acheté. Pour trouver le distributeur Ferguson le plus 
proche, veuillez visiter le www.ferguson. com et entrer 
votre adresse dans le champ Trouver Une Adresse.
Clients du Canada:
L’acheteur/acheteuse devrait contacter le distributeur
Wolseley Canada, l’entrepreneur ou l’installateur le plus 
proche chez qui le produit a été acheté. Pour trouver votre 
distributeur Wolseley Canada le plus proche, veuillez visiter 
www.wolseleyinc.ca, puis cliquer sur Trouver Une Adresse 
et introduire votre adresse dans le champ d’adresse.
PROFLO est une marque déposée de Ferguson
Enterprises, Inc. RESTRICTIONS DE LA GARANTIE
IMPLICITE ET EXONÉRATION DE RESPONSABILITÉ
QUANT AUX DOMMAGES INDIRECTS OU ACCES-
SOIRES FERGUSON DÉCLINE TOUTE RESPONSABIL-
ITÉ POUR LES DOMMAGES INDIRECTS OU ACCES-
SOIRES ET ANNULE TOUTE GARANTIE EXPRESSE OU 
IMPLICITE, Y COMPRIS TOUTE GARANTIE DE QUAL-
ITÉ MARCHANDE OU D’ADAPTATION À UN USAGE 
PARTICULIER, TEL QU’ÉNONCÉ PRÉCÉDEMMENT. 
LES GARANTIES IMPLICITES POUR LE PRODUIT ET 
LES PIÈCES DU PRODUIT ÉNONCÉES PRÉCÉDEM-
MENT DANS LE PARAGRAPHE 1 SE LIMITENT À LA 
DURÉE DE VIE DE LA PRÉSENTE GARANTIE. Certains 
États ne permettent pas les clauses sur l’exclusion ou la 
restriction des dommages indirects ou accessoires ou 
des restrictions concernant la durée d’une garantie im-
plicite. Par conséquent, les restrictions susmentionnées 
peuvent ne pas s’appliquer. Cette garantie vous confère 
certains droits reconnus par la loi et il est possible que 
vous ayez d’autres droits qui varient d’un État à l’autre.

BO`ULON
JOINT EN 
CAOUTCHOUC

RONDELLE
ÉCROU

CUVETTE DU FLOTTEUR

CORPS DU ROBINET 
DE REMPLISSAGE

JOINT TRIANGULAIRE

DISPOSITIF D’ÉTANCHÉITÉ 
EN CAOUTCHOUC

DISPOSITIF D’ÉTANCHÉITÉ 
EN PLASTIQUE

DISPOSITIF D’ÉTANCHÉITÉ 
HEXAGONAL

TIGE AJUSTABLE

FILTRE

Distributed Exclusively by Ferguson and Wolseley Canada
© 2013 Ferguson Enterprises, Inc. 	 18218 11/13

Instructions d’installation

Réservoir de gravité  
à sortie arrière de type mural
PF1705 / 1710 /  
PF1705HE / PF1710HE



®

Distributed Exclusively by Ferguson and Wolseley Canada
© 2010 Ferguson Enterprises, Inc. All Rights Reserved

6635 01/11

Dépannage

SI LE ROBINET DE REMPLISSAGE EST FERMÉ, MAIS QU’IL CONTINUE À FUIR
Suivre les instructions Comment nettoyer le dispositif d’étanchéité ci-dessous.

SI LE ROBINET DE REMPLISSAGE S’OUVRE PUIS SE FERME DURANT DES 
PÉRIODES D’INUTILISATION, C’est une indication que vous gaspillez de l’eau.
Vérifier si la portion inférieure du tuyau de remplissage est insérée dans le tuyau 
de trop-plein, sous le niveau d’eau dans le réservoir.

Vérifier si le flotteur du robinet de remplissage est coincé. S’assurer qu’il bouge 
librement.

Vérifier si le clapet est usé, sale ou désaligné. Remplacer le clapet avec un clapet 
de remplacement d’origine.

Vérifier si l’écrou du robinet de la chasse est bien serré.

SI LE ROBINET DE REMPLISSAGE NE SE FERME PAS ET NE S’OUVRE PAS 
ou si LE REMPLISSAGE DU RÉSERVOIR D’EAU EST LENT, le remplacement 
du dispositif d’étanchéité peut s’avérer nécessaire. Mise en garde : L’ÉCROU 
DE SERRAGE DE COLLIER pourrait entraîner un bris et des DOMMAGES 
POTENTIELS. NE PAS utiliser du mastic à plombier pour assurer l’étanchéité 
de ces raccords. Rondelles coniques imperdables déjà incluses. Utiliser les 
rondelles et l’écrou d’accouplement existants. Vérifier l’arrêt d’équerre et 
s’assurer que l’alimentation d’eau est ouverte. SI LA FUITE D’EAU PROVIENT 
DU RÉSERVOIR, se reporter au diagramme de branchement de la conduite 
d’alimentation. Vérifier l’écrou de serrage de collier du robinet de remplissage 
afin de s’assurer qu’il est bien serré. Confirmer que le réservoir est bien attaché 
à la cuvette. Vérifier si le clapet est usé, sale ou désaligné. Remplacer le clapet 
avec un clapet de remplacement d’origine. Vérifier si l’écrou du robinet de la 
chasse est bien serré. 

Dépannage

Réservoir de gravité à 
sortie arrière de type mural 
PF1705 / 1710

Difficultés Raisons Solution

Le niveau de l’eau est 
trop élevé ou trop bas

Le robinet de 
remplissage n’est pas 
correctement ajusté.

Ajuster le niveau de 
l’eau

Le robinet de 
sectionnement n’est 
pas complètement 
ouvert.

Ouvrir le robinet de 
sectionnement.

Le robinet de 
remplissage ne se 
remplit pas.

Le filtre est obstrué. Enlever et nettoyer le 
filtre.

Le flotteur de la 
cuvette est coincé par 
la paroi du réservoir.

Libérer le robinet de 
remplissage de la 
paroi du réservoir.

Fuite L’écrou hexagonal est 
desserré.

Serrer l’écrou 
hexagonal. SI L’EAU CONTINUE DE COULER, NETTOYER LE DISPOSITIF 

D’ÉTANCHÉITÉ TEL QUE DÉCRIT DANS LES FIGURES 1 À 6 
CI-DESSOUS.

1

Enlever le capuchon du robinet 
de remplissage et déconnecter 
le tuyau de remplissage.

2 3

Déconnecter la vis d’ajustement du 
bras du robinet de remplissage.

4

Tourner de 1/8 dans le sens inverse 
des aiguilles d’une montre pour 
desserrer la tête du robinet de 
remplissage.

5

Couvrir la tête du robinet de 
remplissage et ouvrir lentement 
l’eau pour enlever tout débris.

Réassembler dans l’ordre 
inverse pour assurer un bon 
fonctionnement.

6b

Rincer le dispositif d’étanchéité 
et la tête avec de l’eau.

6a

Ces pièces doivent être utilisées telles qu’illustrées pour assurer une connexion d’eau étanche.

MÉTAL/CUIVRE

TUBAGE MANDRINÉ
À BRIDE EN MÉTAL

TUBAGE
SPIRALE EN MÉTAL

TUBAGE
VINYLE / TRESSÉ

CONNECTEUR

Le tuyau ou le flexible d’alimentation en eau doit excéder d’au moins 1/2 po à 
l’intérieur de la queue filetée du robinet.

AVERTISSEMENT
NE PAS UTILISER DE NETTOYEURS À CUVETTE CONTENANT 
DU JAVELLISANT OU DU CHLORE DANS LE RÉSERVOIR.

L’utilisation de tels produits aura pour effet de :
1. Causer des dommages aux composants du réservoir et pourrait 
causer un débordement et des dommages à la propriété.

2. Annuler la garantie.

Mise en garde: 
L’ÉCROU DE SERRAGE DE COLLIER pourrait entraîner un bris ou 
des DOMMAGES potentiels. NE PAS utiliser de rondelle conique 
avec une conduite d’alimentation en plastique. NE PAS utiliser 
de mastic à plombier pour assurer l’étanchéité de ces raccords.

CONTRE-
ÉCROU

RONDELLE 
CONIQUE

ÉCROU 
D’ACCOUPLEMENT

FERMETURE 
DE L’EAU

CONTRE-
ÉCROU

RONDELLE 
EXISTANTE

ÉCROU 
D’ACCOUPLEMENT 
EXISTANT

FERMETURE 
DE L’EAU

CONTRE-
ÉCROU

RONDELLE 
CONIQUE 
EXISTANTE
ÉCROU 
D’ACCOUPLEMENT

FERMETURE 
DE L’EAU

CONTRE-
ÉCROU

ÉCROU 
D’ACCOUPLEMENT

FERMETURE 
DE L’EAU

Utiliser les rondelles et l’écrou 
d’accouplement existants.

Rondelles coniques 
imperdables déjà incluses

Fermer l’alimentation en eau.

Distributed Exclusively by Ferguson and Wolseley Canada
© 2013 Ferguson Enterprises, Inc. 	 18218 11/13

Dépannage

Réservoir de gravité  
à sortie arrière de type mural
PF1705 / 1710 /  
PF1705HE / PF1710HE



®

Instrucciones de instalación

Tanque de gravedad de descarga
trasera para colgar en pared

PF1705 / 1710

Distributed Exclusively by Ferguson and Wolseley Canada
© 2010 Ferguson Enterprises, Inc. All Rights Reserved

6635 01/11

1. Siga las instrucciones de instalación del soporte 
del transportador del sanitario.  Confirme que los 
montantes del soporte del transportador se extiendan 
un mínimo de 1 7/8”, 48mm de la cara de la pared 
terminada.

2.  Coloque las tuercas de respaldo sobre los dos tornillos 
superior e inferior izquierdos.  Ajuste las tuercas de 
manera que la cara frontal de las tuercas esté al ras 
de la pared terminada. Use la hoja de una sierra para 
metales para calibrar las tolerancias de holgura de 
1/16” entre el componente y la superficie de la pared.

3.  Ajuste la cañería de desagüe de manera que se extienda 
más allá de 5/16” (7mm) de la pared terminada.

4. Siga las recomendaciones de ajuste de la conexión de 
descarga del sanitario para el soporte del cargador del 
sanitario. 

5. Use una empaquetadura de fieltro o goma, (no se 
recomienda el uso de un anillo de cera) sobre la 
descarga del sanitario.

6. Con un auxiliar, monte cuidadosamente la taza dentro 
de los montantes usando roldanas de fibra y tuercas 
de tapón.  Apriete manualmente. NO aplique la roldana 
de fibra superior derecha y el tapón hasta que se hayan 
apretado firmemente las otras tres tuercas. Apriete 
manualmente la tuerca de tapón superior derecha.

7. Aplique sellador de silicona entre la taza y la pared 
terminada.

8. Instale la empaquetadura del tanque a la taza y los 
tornillos con arandela del tanque, si no están ya 
instalados, y coloque el tanque sobre la taza.

9. Usando una llave de copa, ajuste y nivele las tuercas 
del tanque y sostenga firmemente el tornillo de cabeza 
segmentada dentro del tanque con un destornillador.

10. Conecte el suministro de agua al flotador. Apriete 
manualmente solo el tubo de suministro. NO USE LAS 
PINZAS DE PLOMERO.

11. Conecte el agua, evacúe el tanque y verifique si no 
hay fugas. Ajuste el flotador a una altura de agua 
apropiada, conforme a la marca en el tubo de la válvula 
de evacuación del inodoro.

Ajuste del nivel de agua La varilla de rotación 
ajustable ajustará la altura del cono de flotación y el nivel 
de cambio del agua. 

Cuidado y mantenimiento
No utilice limpiadores abrasivos en polvo o líquidos 
que pudieren dañar la superficie del producto NO 
UTILICE LIMPIADORES DENTRO DEL TANQUE 
O DE LA TAZA QUE CONTENGAN CLORO O 
BLANQUEADOR, esto podría provocar daño a los 
componentes del tanque y podría causar inundación 
y daños a la propiedad

Precaución
El producto es frágil. ¡Manéjelo con cuidado para evitar 
roturas y posibles lesiones!  Si ajusta la contratuerca o 
la tuerca de acoplamiento en exceso, puede provocar la 
rotura e inundación.  No utilice arandelas cónicas con la 
tubería plástica de abastecimiento. No use lubricante de 
tubería u otros materiales con base de silicona para apretar 
la tuerca de acoplamiento del suministro.

Garantía
¿QUÉ CUBRE LA GARANTÍA?
Ferguson Enterprises, Inc. (“Ferguson” o “la compañía”)
garantiza que sus productos están libres de defectos de

materiales y mano de obra, en condiciones normales de
uso y mantenimiento, DURANTE UN PERÍODO DE UN (1) 
AÑO A PARTIR DE LA FECHA DE LA INSTALACIÓN DEL 
PRODUCTO.

¿QUÉ EXCLUYE LA GARANTÍA?
La garantía estipulada en el párrafo 1 no cubre la instalación 
ni cualquier otro gasto de mano de obra y no es válida 
para productos que hayan resultado dañados debido a 
accidente, abuso, instalación o mantenimiento inadecuados 
o la modificación de los productos originales de plomería. 
La garantía de tales productos está limitada a la garantía 
que haya otorgado el fabricante del producto a Ferguson. 
Por último, FERGUSON NO SE HACE RESPONSABLE DE 
NINGUNA FALLA O DAÑO AL PRODUCTO O A CUALQUIERA 
DE LOS COMPONENTES DEBIDO AL USO DE LIMPIADORES 
ABRASIVOS.

CÓMO OBTENER SERVICIO DE GARANTÍA
Clientes de los Estados Unidos: El comprador debe 
comunicarse con la tienda Ferguson de su localidad, el 
contratista de la instalación o la empresa constructora a la que 
se le compró el producto. Para buscar a tienda Ferguson más 
cercana visite www.ferguson.com e ingrese su dirección en el 
campo Find a Location. Clientes de Canadá: El comprador debe 
comunicarse con la tienda Wolseley Canada de su localidad, 
el contratista de la instalación o la empresa constructora a la 
que se le compró el producto. Para buscar la tienda Wolseley 
Canada más cercana visite www.wolseleyinc.ca y haga clic en 
Find a Location e ingrese su dirección en el campo location. 
PROFLO es una marca comercial registrada de Ferguson
Enterprises, Inc. LÍMITACIONES DE LA GARANTÍA 
IMPLÍCITA Y EXENCIÓN DE RESPONSABILIDAD DE DAÑOS 
CONSECUENCIALES O INCIDENTALES FERGUSON ESTÁ 
EXENTA DE CUALQUIER RESPONSABILIDAD POR DAÑOS 
CONSECUENCIALES O INCIDENTALES, ASÍ COMO DE 
CUALQUIER GARANTÍA EXPRESA O IMPLÍCITA, INCLUIDAS 
AQUELLAS RELACIONADAS CON LA COMERCIALIZACIÓN E 
IDONEIDAD DEL PRODUCTO PARA UN FIN DETERMINADO, 
COMO SE ESTIPULA EN LOS PÁRRAFOS PREVIOS. 
LAS GARANTÍAS IMPLÍCITAS DE LOS PRODUCTOS Y 
COMPONENTES DEL PRODUCTO ESTIPULADAS EN EL 
PÁRRAFO 1 ANTERIOR SE LIMITAN A LA DURACIÓN DE 
LA GARANTÍA CORRESPONDIENTE. Algunos estados no 
permiten la exclusión o limitación de daños incidentales o 
derivados, o bien de limitaciones sobre la duración de una 
garantía implícita. Por tanto, puede que las limitaciones 
previamente descritas no sean válidas en tal caso. Esta
garantía otorga al comprador del producto derechos legales 
específicos y es posible que dicho comprador tenga otros.

TORNILLO
EMPAQUETADURA 
DE GOMA 

ARANDELA

VARILLA AJUSTABLE

FILTRO

CONO 
DE FLOTACIÓN

CUERPO DE LA 
VÁLVULA DE LLENADO

EMPAQUETADURA 
TRIANGULAR

SELLO DE GOMA

SELLO DE PLÁSTICO

SELLO HEXAGONAL

TUERCA

Distributed Exclusively by Ferguson and Wolseley Canada
© 2013 Ferguson Enterprises, Inc. 	 18218 11/13

Instrucciones de instalación

Tanque de gravedad de desca 
trasera para colgar en pared
PF1705 / 1710 /  
PF1705HE / PF1710HE



®

Distributed Exclusively by Ferguson and Wolseley Canada
© 2010 Ferguson Enterprises, Inc. All Rights Reserved

6635 01/11

SI EL AGUA CONTINÚA CORRIENDO, LIMPIE EL SELLO COMO SE 
INDICA EN LAS FIGURAS 1-6 A CONTINUACIÓN

Desconecte el suministro de agua

1

Quite el tapón de la válvula de llenado, y 
desconecte el tubo de relleno

2 3

Desconecte el tornillo de ajuste del 
brazo de la válvula de llenado

Gire 1/8 en sentido invertido a las 
agujas del reloj para aflojar la cabeza 
de la válvula de llenado

5

Cubra la cabeza de la válvula de 
llenado y suelte el agua lentamente 
para eliminar cualquier rebaba

Vuelva a ensamblar las piezas en orden 
invertido para garantizar su funcionamiento

6b

Enjuague el sello y la cabeza con agua

6a

Solución de problemas

Tanque de gravedad de descarga
trasera para colgar en pared

PF1705 / 1710

Solución de problemas

SI LA VÁLVULA DE LLENADO SE CIERRA PERO CONTINÚA LA FUGA
Siga las instrucciones sobre cómo limpiar el sello que se muestran a 
continuación.

SI LA VÁLVULA ARRANCA Y SE PARA DURANTE PERÍODOS EN QUE NO 

SE ESTÁ UTILIZANDO.

Es señal de que está desperdiciando agua
Compruebe si la parte más baja del tubo de relleno está insertada dentro de 
la tubería de desagüe, por debajo del nivel de agua en el tanque.

Compruebe si el flotador de la válvula de llenado está atorado.  Asegúrese 
de que se mueva libremente.

Compruebe si la clapeta está desgastada, sucia o desalineada.  Reemplace 
la clapeta con una original de repuesto.

Compruebe si la tucera de la válvula de descarga está adjustada.

SI LA VÁLVULA DE LLENADO NO ARRANCA O SE APAGA, o EL LLENADO 
DEL TANQUE DE AGUA ES LENTO puede ser que se requiera reemplazar 
el sello. Precaución:  LA TUERCA DE LA ABRAZADERA puede provocar 
roturas y DAÑO potencial, NO utilice una arandela cónica con una tubería de 
suministro de plástico. No use masilla de plomería para sellar estos ajustes.   
Se incluyen las arandelas cónicas esclavas. Use las arandelas existentes y 
la tuerca de acoplamiento. Compruebe el ángulo de parada y asegúrese de 
que esté corriendo el agua. SI ESCURRE AGUA DEL TANQUE, consulte el 
diagrama de acoplamiento de la tubería de suministro.  Compruebe que la 
tuerca de la abrazadera de la válvula de llenado esté apretada. Confirme que 
el tanque esté ajustado con seguridad a la taza. Compruebe si la clapeta está 
desgastada, sucia o desalineada.  Reemplace la clapeta con una original de 
repuesto. Verifique que la tuerca de la válvula de descarga esté apretada.

Dificultades Razones Solución

El nivel de agua está 
muy alto o muy bajo

La válvula de llenado 
no está ajustada 
correctamente

Ajuste el nivel de agua

La válvula de cierre no 
está totalmente abierta

Abra la válvula de 
cierre

La válvula de llenado 
no se puede llenar Filtro obstruido Quite y limpie el filtro

El cono de flotación se 
atora con la pared del 
tanquel

Libere la válvula de 
llenado de la pared del 
tanque

Fugas de agua
La tuerca hexagonal 
está floja

Ajuste la tuerca 
hexagonal

Estas partes deben usarse conforme se ilustra para garantizar una conexión de sellado hermético

METAL/COBER
CAÑERÍA ACAMPANADA

ESPIRAL METÁLICA
TUBING

METAL SPIRAL
TUBING

VINIL/ENTRELAZADA
CONECTOR

CONTRATUERCA

ARANDELA 
CÓNICA

ARANDELA 
EXISTENTE

ARANDELA 
CÓNICA  
EXISTENTE

TUERCA DE 
ACOPLAMIENTO

TUERCA DE 
ACOPLAMIENTO

TUERCA DE 
ACOPLAMIENTO 
EXISTENTE

TUERCA DE 
ACOPLAMIENTO

VÁLVULA DE 
CIERRE DE 
AGUA

VÁLVULA DE 
CIERRE DE 
AGUA

VÁLVULA DE 
CIERRE DE 
AGUA

VÁLVULA DE 
CIERRE DE 
AGUA

Use las arandelas y la tuerca 
de acoplamiento existentes

Use las roldanas existentes y 
la tuerca de acoplamiento

La tubería de suministro o el tubo deben extenderse al menos 1/2” dentro del 
vástago de cuerda de la válvula

Precaución:

ADVERTENCIA 
NO UTILICE LIMPIADORES DENTRO DEL TANQUE DEL 
INODORO, QUE CONTENGAN CLORO O BLANQUEADORES

El uso de tales productos: 

1. Provocará daños a los componentes del tanque y puede 
provocar inundación y daño a la propiedad

2. Puede invalidar la garantía

CONTRATUERCA CONTRATUERCA CONTRATUERCA

LA TUERCA DE LA ABRAZADERA puede provocar roturas y DAÑO potencial. 
NO use una arandela cónica con la tubería plástica de abastecimiento. 
NO use masilla de plomería para sellar estas válvulas.

4

Distributed Exclusively by Ferguson and Wolseley Canada
© 2013 Ferguson Enterprises, Inc. 	 18218 11/13

Solucion de problemas

Tanque de gravedad de descarga 
trasera para colgar en pared
PF1705 / 1710 /  
PF1705HE / PF1710HE


